“Move That Tower” Quiz


Name_________________________________

Density




Date__________________________________

1) Explain the properties of a material that makes the object sink or float.

2) In your own words, explain what density means.

3) Is it possible for two different size objects to have the same mass? Explain why or why not.

4) What would be some possible units for density?

Using the formula for density, find the missing variable.  Be sure to provide units for each answer.

5)  Mass = 191.08 grams

Volume = 68 cm3  
Density = x

6)  Mass =  133.11 grams
Volume = 27 cm3  
Density = x

7)  Mass = x


Volume = 36 cm3
Density = .97 g/cm3
8)  Mass = 1155.6 grams

Volume = x

Density = 21.4 g/cm3

9)  Mass = 16.3 pounds

Volume = 168 in3
Density = x

10)  Mass = 29.52 pounds
Volume = x

Density = .41 lb/in3
11)  Mass = x


Volume = 48 in3
Density = .264 lb/in3

Table from: http://morrisonlabs.com/density_chart.htm
Densities of Solids

	Gold
	19.3 g/cm3

	Lead
	11.3 g/cm3

	Silver
	10.5 g/cm3

	Copper
	8.9 g/cm3

	Iron
	7.9 g/cm3

	Steel 
	7.8 g/cm3

	Aluminum
	2.7 g/cm3

	Water (ice)
	.92 g/cm3

	Diamond
	3.52 g/cm3

	Platinum
	21.4 g/cm3

	Uranium
	18.7 g/cm3

	Table Salt
	2.2 g/cm3

	Wood Cherry 
	0.433 g/cm3

	Wood Birch 
	0.705 g/cm3

	Wood Mahogony
	0.705 g/cm3

	Wood Red Oak 
	0.673 g/cm3

	Wood Southern Pine 
	0.65 g/cm3

	Wood Sugar Maple 
	0.689 g/cm3

	Wood Walnut 
	0.593 g/cm3

	Wood Pine
	.5 g/cm


12)  The volume of an end table is 11,136 cubic inches.  The mass is 4821.888 grams.  Use the chart to determine the type of wood used to build the table.

13)  Jane’s husband gave her a ring for her birthday.  She wants to determine if the stone is a diamond.  The mass of the stone is 11 grams and the volume is 2 cubic centimeters.  Did Jane receive a diamond ring for her birthday?

14) Katana Summit needs to inform their customer of the weight of the steel tower they are purchasing so they can obtain proper permits for transporting it.  The volume of the tower is 7791.1 cubic feet.   

a) Covert the volume of the tower into cubic centimeters.  
1 cubic foot is equal to 28316.85 cubic centimeters.   

b)  Using the conversion from part a, find the mass of the tower.

c)  The mass of the tower is in grams.  Trucking companies need to have the mass in pounds.  If 1 gram = .002204 pounds, what is the mass of the tower in pounds.
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